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Seat No.: ________                                                      Enrolment No.______________ 

 
GUJARAT TECHNOLOGICAL UNIVERSITY 

DIPLOMA ENGG.-  SEMESTER–VI EXAMINATION – OCTOBER 2012 
 

Subject code: 360504 Date: 29-10-2012      
Subject Name: Chemical Process Equipment Design 
Time: 2:30 pm – 5:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version is considered to be Authentic 

 
 
Q.1 (a) (1) Write down only steps of general design procedure. 

(2) How to prevent or reduced corrosion? 
(3) Write only name of theories of failure. 

03 
02 
02 

 (b) Discuss Brittle Fracture, Creep and Fatigue. 07 
    

Q.2 (a) (1) Define Elasticity, Stiffness & Rigidity, Yield Stress and Ultimate 
      Stress. 
(2) Write down stresses created due to static load. 

04 
 

03 
 (b) Draw and explain various types of Turbine Agitator. 07 
  OR  
 (b) Write down the various power requirements for agitation and 

explain power absorbed by agitator. 
07 

    
Q.3 (a) (1) Write brief note on pressure vessel code. 

(2) List out the components of pressure vessel. 
(3) Write brief note on vessel operating at low temperature. 

02 
02 
03 

 (b) Describe various operating conditions for pressure vessel. 07 
  OR  

Q.3 (a) The Amination reaction is carried out in a pressure vessel having a 
cylindrical shell. The internal pressure of shell is 0.50 N/mm2 and 
shell internal diametr is 1.4 m. The material of construction of 
pressure vessel shell is stainless steel (0.5 Cr 18 Ni 11 Mo 3). 
Calculate the thickness of shell using following data: 
Permissible stress at 150 oC is 130 N/mm2. 
Joint Efficiency is 0.85. 
Weight of vessel with content = 40,000 N 
Torque due to offset piping = 500 N m 

07 

 (b) Draw various formed heads for a pressure vessel and explain their 
selection criteria. 

07 

    
Q.4 (a) Discuss about heating system in case of reaction vessel. 07 

 (b) (1) Define Heat Exchanger. 
(2) Classify Heat Exchanger based on their function. 
(3) Draw & explain Baffles and Tube Sheet Layout. 

01 
02 
04 

  OR  
Q. 4 (a) (1) List out the main components of Shell & Tube Heat Exchanger. 

(2) Explain Shell side passes for Shell & Tube Heat Exchanger with  
03 
04 



 2

      figure. 
 (b) (1) How Computer aided design used for process equipment design? 

(2) Discuss in brief about codes used for Heat Exchanger. 
05 
02 

    
Q.5 (a) Write down steps of stresses due to dead loads and stresses due to 

wind load in case of determination of shell thickness at different 
height for distillation column. 

07 

 (b) Calculate the thickness of base plate for a bracket support for a 
vertical cylindrical vessel using following data: 
Diameter of vessel = 1.5 m 
Height of vessel = 2.0 m 
Clearance from vessel bottom of foundation = 1.0 m 
Wight of vessel with contents = 40,000 N 
Wind pressure = 1285 N/m2

Number of brackets = 4 
Diameter of anchor bolts circle = 1.65 m 
Height of bracket from foundation = 2.25 m 
Permissible stresses for structural steel (IS-800) 
     Tensile = 140 N/mm2

     Compression = 123.3 N/mm2

     Bending = 157.5 N/mm2

Permissible bearing pressure for concrete = 3.5 N/mm2

Coefficient depending on the shape factor, k = 0.7 
Plat Size = 150 mm x 150 mm 
For a base plate take a = 140 mm and B = 150 mm 

07 

  OR  
Q.5 (a) Describe basic features of distillation columns. 07 

 (b) Write down various types of support used for vessels and describe 
any one in detail. 

07 

 
************ 

 
5|`Gv! V (૧) સામાƛય ડ�ઝાઈન પƚધિતના ફƈત પગલા લખો.  

(૨) ખવાણને કઈ ર�તે બચાવી ક ઓĠ ંકર� શકાય° ?  

(૩) િનƧફળતાની થીયેર�ના ફƈત નમ લખો. 

 

03 
 

02 
 

02 

 A ̈ીટલ ̇ƈચર° , ˲�પ અને ફટ�ગ ની ચચા½ કરો.  
 

07 
    

5|`GvZ V (૧) ઈલાƨટ�સીટ�, ƨટ�ફનેશ અને ર�ĥડ�ટ�, યીƣડ ƨ °˼સ અને  

     અƣટ�મેટ ƨ˼સ ની ƥયાƉયા આપો° .  

(૨) ƨટટ�ક લોડ ને કારણે ઉદભવતા ƨ˼સીસ લખો° ° .  

 

04 
 
 

03 

 A ટબા½ઈન એĥટટર ના િવભીđ આકારની આȢિત દોરો અને વણ½વો° ૃ .  
 

07 
  VYJF  
 A એĥટશન માટ િવભીđ જĮર� પાવર લખો અને એĥટટર Ďારા ° ° °

શોષાતા પાવર િવષે સમĤવો.  

 

07 
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5|`Gv# V (૧) ̆ેશર વેશલ કોડ િવષે Ȭંકમા નҭધ લખોુ .  

(૨) ̆ેશર વેશલના ભાગોની યાદ� બનાવો.  

(૩) નીચા તાપમાને વેશલ ઓપરટӄગ િવષે Ȭંકમા નҭધ લખો° ુ . 

 

02 
 

02 
 

03 
 A ̆ેશર વેશલ માટની ઓપરટӄગ કંડ�શન વણ½વો° ° .  

 

07 
  VYJF  
    

5|`Gv# V એક ̆ેશર વેશલમા ંએમાઈનેશનની ̆˲�યા થાય છે Ȑનો શેલ 

નળાકાર છે. શેલȵ ઈƛટરનલ ̆ેશર ુ ૦.૫૦ ƛȻટનુ /(મીલીમીટર)૨

અને શેલનો ઈƛટરનલ ƥયાસ ૧.૪ મીટર છે. ̆ેશર વેશલ શેલના 

બનાવટની સામ˴ી ƨટઈનલેશ ƨટ�લ ° (૦.૫ ˲ોમીયમ ૧૮ નીƈલ ૧૧ 

મોલીƞલેડમ ૩) છે.  

નળાકાર ̆ેશર વેશલ શેલની થીકનેસ નીચેની માહ�તીનો ઉપયોગ 

કર�ને શોધો.  

પરમીશીબલ ƨ˼સ  ° ૧૫૦ ડ�˴ીસેƛટ�˴ેડ તાપમાને ૧૩૦ 

ƛȻટનુ /(મીલીમીટર)૨ અને જોઇƛટ એફ�સીયƛસી ૦.૮૫ છે.  

મટ�ર�યલ સાથે વેશલȵ વજન ુ = ૪૦,૦૦૦ ƛȻટનુ  

ઓફસેટ પાઈિપ�ગ ને કારણે ટોકઁ = ૫૦૦ ƛȻટનુ -મીટર  

 

 

07 

 A ̆ેશર વેશલ માટ બનતા િવિવધ હડની આȢિત દોરો અને તેને પસદં ° ° ૃ

કરવા માટના માપદંડ વણ½વો° .  

 

07 

    
5|`Gv$ V ̆�˲યા વેશલ માટ હ�ટӄગ સીƨટમ િવષે સમĤવો° .  

 

07 
 A (૧) હ�ટ એƈશચેƛજરની ƥયાƉયા આપો  

(૨) હ�ટ એƈશચેƛજરȵ વ�ગ�કરણ તેના ફƈશન ને આધાર કરોુ ં ° .  

(૩) બેફલસ અને ટȽબ શીટ લેુ -આઉટ િવષે આȢિત સ�હત સમĤવોૃ . 

 

01 
 

02 
 

04 
  VYJF  
    

5|`Gv$ V (૧) શેલ અને ટȽબ હ�ટ એƈશચેƛજરના ȺƉય ભાગોની યાદ� ુ ુ  

     બનાવો.  

(૨) શેલ અને ટȽબ હ�ટ એƈશચેƛજરમા ંશેલ બાȩના પાસીસ આȢિત ુ ુ ૃ

     સ�હત સમĤવો. 

 

03 
 
 

04 

 A (૧) કોƠƜȻટરુ થી બનાવવામા ંઆવતી ડ�ઝાઈન સાધનોના ̆˲�યાની  

     ડ�ઝાઈન માટ કઈ ર�તે ઉપયોગી છે° ?  

(૨) હ�ટ એƈશચેƛજર માટ ઉપયોગમા ંઆવતા કોડ િવષે Ȭંકમા ચચા½ ° ુ  

 

05 
 
 

02 
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    કરો.  
    
    

5|`Gv5 V ડ�ƨટ�લેશન કોલમમા ંશેલની થીકનેશ ȩદ�ુ -ȩદ� Әચાઈએ શોધવા ુ

માટ ડડ લોડ ને કા° ° રણે ƨ˼સ અને િવƛડ લોડ ન ેકારણે ƨ˼સ શોધવા ° °

માટના પગલા લખો° .  

 

07 

 A ઉભા નળાકાર વેશલના ̈ેકટ ° સપҤટની બેઝ Ɯલેટની થીકનેસ નીચેની 

માહ�તીનો ઉપયોગ કર�ને શોધો.  

વેશલનો ƥયાસ = ૧.૫ મીટર 

વેશલની Әચાઈ= ૨.૦ મીટર 

વેશલ બોટમ ફાઉƛડશનથી ƈલીયરƛસ ° = ૧.૦ મીટર 

મટ�ર�યલ સાથે વેશલȵ વજન ુ = ૪૦,૦૦૦ ƛȻટન ુ  

હવાȵ ̆ેશર ુ = ૧૨૮૫ ƛȻટનુ /(મીલીમીટર)૨

̈ેકટ નગં ° = ૪ 

Ӝકર બોƣટ વȱ½ળનો ƥયાસ ુ = ૧.૬૫ મીટર  

ફાઉƛડશનથી ° ̈ેકટની Әચાઈ ° = ૨.૨૫ મીટર  

ƨ˼ƈચરલ ƨટ�લ (આઈએસ – ૮૦૦) માટ પરમીશીબલ ° ƨ˼સ°  

          ટƛશન ° = ૧૪૦ ƛȻટનુ /(મીલીમીટર)૨ 

                 કોƠ̆ેશન = ૧૨૩.૩ ƛȻટનુ /(મીલીમીટર)૨ 

          બેƛડӄગ = ૧૫૭.૫ ƛȻટનુ /(મીલીમીટર)૨ 

કҭ˲�ટ માટ પરમીશીબલ બીઅરӄગ ̆ેશર °  

                                       = ૩.૫ ƛȻટનુ /(મીલીમીટર)૨ 

કો-એફ�શીયƛટ ડ�પેƛડӄગ ઓન શેપ ફƈટર° , k = ૦.૭  

બેઝ Ɯલેટ માટ ° a = ૧૪૦ મીલીમીટર B = ૧૫૦ મીલીમીટર લો.  

 

07 

  VYJF  
    

5|`Gv5 
 

V ડ�ƨટ�લેશન કોલમના બેઈઝીક ફȼચરને વણ½વોુ .  
 

07 

 A વેશલ માટ ઉપયોગમા આવતા િવિવધ ̆કારના સપҤટ લખો અને °

કોઈ પણ એક સિવƨતાર વણ½વો.  

 

07 

 
************ 
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